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Instructions to the candidate :

|, Ofeml gurEwa AO WeET 7 € I 4|
Candidates are required to give their answers i
practicable. '

o wfi T wRW W R g siw qoite fafie e
Figures in the right hand margin indicate full marks.

3. Wt Wy At €
All guestions are compulsory.

4. e 33 wH Tl QU - w1 e T |
idate should adhere to the word limit as far as

n their own words as far as

While answering the cand
practicable.

5. Wwﬁqﬁ%fﬁqwﬁwaﬂaﬁiﬁ?ﬁmﬁwwh

15 minutes of extra time have been allotted for the candidates to read the

questions.

e e
Geéneral Instructions :
(i) m-uam"agtﬁﬁﬁur‘r‘aﬁ%.ﬁqﬁwsomﬁumﬁlgﬁasﬂt@-nnm
20 3%, qu-C HR gU-D H WAF 17 3% @ gu-E § 6 3 Fraifta €1
The question pépcr ‘s divided into five Groups, in which there are 30 questions in
~all, Groups A and B carry 20 marks each. Groups C and D carry 17 marks cach

and Group E carries 6 ks. ]
Gy 1 3 %pmr'ﬁrrﬁsmr;a{ﬁ 5ed fg M E — ¥ defeas ok R @A )
Wwimm-mﬁmwmﬁﬁﬂwﬁmﬂ%iﬁ?ﬁmﬁ%

- g SR Wl ¥R A HT g
1 mark questions are of two types — Multiple choice and Fill in the blanks. The
answers of the Multiple Choice questions are to be selected from the options given

in the question paper. Fill in the blanks with appropriate words according to the
textbook.
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(i)

(iv)

By

(vi)

S1. Code : [1012
2%%Hﬁwmﬁﬂqaﬂﬁa%|uﬁmmwmaﬁmzowﬁﬁﬁméi

2 marks questions arc al Very Short Answer type Answers of these questions
should not exceed 20 words each.

3 I 4 31 F Tl wvw WG I ¥ | w0 A S0 9 60 W
LAC R

3 marks or 4 marks questions are all Short Answer type. Answers of these
questions should not exceed 50 or 60 words each.

6m7ﬁﬁ$wmfﬁﬁﬁaﬁnmmmmaﬁwmom
120 O} | 31 ¥

© or 7 marks questions are all Long Answer type. Answers of these questions
should not exceed 100 or 120 words each,

mﬁaﬁﬂé&ﬁﬂﬁwmﬁ%ﬂm&m%l

The questions related to the maps are to be answered as directed.

T -A
GROUP - A
FhoeTa
( 3% : 20)
History
{ Marks : 20 )
=it sgfompedta et § ¥ wet Faeea o -
Choose the most appropriate options in the following multiple choice questions :

“MET FY' F @unen e fawiaa oY of 2

(F) TreR eEd (@ fofeam

(M  mifrmE m (=) e 1
Who had developed the ‘Garden City' hypothesis ?

(a) Ebenezer Howard (b) William

{c) Napoleon il {d) Hasman,

‘firfafeanr v e wmar ¥ 2

(F) e oo = (@) Afg =

(M oume o (F) Ul W ]
Who are calied 'Girmitya' ?

(a) Contract labourers {b) Patients

{c) Lizards {d) Englishmen.

W IR W e mE s g

Fill in the blank with appropriate word :

I T T HEME O, o 1

The founder of Anami Dalwas .................
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4.

9.

3 - SOCIAL SCIENCE
wE v W o wm o) of

Fill in the blank with appropriate word :

RCARR SR CE I i S 1 U o9 o g e

Rashtriya Swayam Sevak Sangha was founded in the year ..o e

=1 e = 3R 50 atwn o0 v G

Answer the following question in 50 or 60 words :

Arniiertor 3 werRt @ ayeifae @ fEw Tt watsd fEar o ? 3

How did industrialization influence the livelihood of the labourers ? -

= s &1 IR 50 stwE e0 v H

Answer the following question in 50 or 60 words :

U it o ‘Hel & e € 2

What is the meaning of '‘Gheto' in -European history ?

3 we= &1 IR 50 T 60 VR T J

Answer the following question in 50 or 60 words :

3Tl & USHIHTOT O B 1 a1 GRETH 9T 2

What was the contribution of Mazzini in the untfication of Italy ?

Fr= wv9 %1 I 100 FEAT 120 TRT H T

Answer the following question in 100 or 120 words :

AfEe ARA™ UL S H @A Y g3 2 TP TRITH FvF T Y ?
HYLT

fee-dii Sufrerer &1 o %7 LY =T ar ?

How was the All India National Congress formed ? What were its initial objectives ?
OR
What was the aim of colony establishment in indo-China ?

7 - B
GROUP - B

( 3% : 20)
Geography
{ Marks : 20 )

fepevifera sgfoeedia weHl 4 @ wEt fawew I
Choose thc most appropriate options in the following multiple choice questions.:
= & 9 ®19 IUNE FamE ?

S T (@) dEm=

(M) AEH (). eT-TH | 1
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10.

11.

12.

13.

14.

15.

Which one of the following is a consumer industry ?

(@) Sugar (b)  Cement
(c) Mica : (d) Iron and steel. |
gifan % wqE SRE W
() femsind (@) . #ia

(W) el () @@mu

Major production place of uranium is

(a) Digboi (b) Jharia

(c) Ghatshila (d)  Jadugoda.

6 v @ o e & e

Fill in the blanks with appropriate words :

i deR e FR NS vd Fe fEal §
................... look more attractive and living by Hachure method.

() TAREE H & IO FH ¢ |
Major plantation crop in Karnataka is .........cc.ooereanees .

Fr e @1 I S0 37T 60 VR H &

Answer the following question in 50 or 60 words .
st 5 e 6 WEE ¥ 39 o FHEH E 7

What do you mean by conservation and management of minerals ?
fy 79 @1 TR 50 I 60 IERI A §

Answer the following questien in 50 or 60 words :

fuenl e F T 2

What is Chipke Movement ?

Py w9 1 ITX 50 ST 60 VI H T

Answer the following question in 50 or 60 words :

e Ter aRee F e faeest @ JeeE H]
Mention the major features of Indian Rail transportation.
Fr=T wee @7 ST 100 Al 120 VR A K

e 3§ gt g Fam & faeror w5 avi i

HAAT

7

R S W AR U Y@ g @ qun fefates W omtea oA s

Edisiy

() IR IEH &
(@) HFET IARH &
(M) HIoTRRT I
(v) <o gl = &t
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Answer the foliowing queeston 1003 or 120 W .
Describe the distnbution of ootion poxtiie indunil® m indsd
OR
Draw the outhine map of ind:a on full page ard mark the fpiiow ng by ghadand
‘a! ’C(Iﬁf‘t‘ p‘l"()duﬁm arca
ibj  Coal production arra
() Kolkata port
id) Area of alluval soi
fe) Chennar
OR
Only for Blind Candidates :
Explain in detad abeut cotton textile industry #l Bihar
qe -C
grourP-C .
rraifa fanma
( 7% 3 17)
Politicsl Sclence
{ Marks : 17}
fepriten u'gfaawfru gyd § @ wet faE= Ve
Choosc the most appropriate opuons in the ollowing mulupile chows uentng
16, WU FTHR & FET ¢
(%) ¥ERE (g fwz=
(m) €A gy v @ ot i
An example of federal government 18
aj Amenca b Britasn
c} China fd Nore of these
17, qx;’ﬁrﬁmﬁmﬁ?ﬂpﬂ ?
(%) joa2 8 (F) 1999 B
(T 2000 3 (mp  200e B f
When was United Jania Party formed ?
{al j92 e 1999
20 55 JOek
[ Tuarm cont
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18 5 v 3R 20 VR A ¢

Answer the following question in 20 words :
TRerarg & & 2
What is Familycracy ?

19, P o # R 50 A 60 WA W &
Answer the following question in 50 oF 60 words :
A & AR w3 e 7@ 8 2
What importance does alliance have in democrac

ﬁmmwmsomsomﬁﬁiz

Answer the following question in 50 of 60 words .
1 AT S @ A § 7 W H
Is terrorism a challenge for democracy ? Explain

S 99 1 IR 100 ST 120 YR AT
wer the following question in 100 or 120 words :

v ?

20.

21.
Ans

T F E T % W@ anee #i Fsd |
: Fuar

_ uﬁ%ﬁw%ﬂwu@ﬂﬁﬂaﬁmm??

Name the important sources of income of Municipal Corporation.
OR

tical party contribute to the national development ?

qq9 -D
GROUP-D

Fretye
( &F : 17 )

Economics
( Marks : 17}

How does poli

frifeea wgfaeedta st 3 Wt fosed 9 ¢
g multiple choice questions :

Choosc the most appropriate options in the followin

mﬁﬁmmwnﬁmﬁﬁmwﬁ%?

(F) =R (@ U=
NI (%) efammi
Which state has the highest per capita income in India ?
{b)  Punjab

(a) Bihar
(c) Goa {d) Haryana.

22.

3
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23.

24,

25,

26.

27.

%ﬂ&ﬁaaﬁﬁ,’?ﬂwmmvﬂm%?

Which sector is called Secondary sector ?

(@ Service (b)  Agriculture

{c) lndumry (d) None of these.

= o = I 2095l o & .

Answer the following question in 20 words :

ERILE I R R,

What do you understand by Financial Institution ?
P01 50 1 SR 50 st 60 vl 4 § ¢

Answer the following questmn in 50 or 60 words :
HH SR T 7 71 s ?

What is the importance of cconomic infrastructure ?
Y ¥ I 50 3 60 W F § -

Answer the following question in 50 or 60 words

LT 311 &) O H § el SeERa w5 g w51

SOCIAL SCIENCE

Describe about the difficulties faced during measurement of national income.

=1 oot &1 3R 100 ST 120 TRI A F
Answer the following question in 100 or 120 words -

TR & HGH Ferd WS BT |

HEAT

FewI & e ac @@ & 2 foer & foww o gwent gfies @ ave 1)

Describe the economic importance of money.

OR

What arc the main elements of cooperation ? Describe its role in the development

-of Bihar.
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28.

29.

30.

T -E
GROUP - E

3AET UTAIH
( 3% : 6 )
Disaster Management
[ Marks : 6 )

frifera sgfamedra wwal d W e oA

Choose the most appropriate oplions in the following multiple choice questions :

fA=iifera | ®19 Wieptas 3UET & 7
() W1 & (@) =M fFeee
\91) Ty (9) TEEF® ggz 1
Which one is a national disaster ?
(a} Fire burn (b) Bomb explosion
{c) Earthquake (d) Chemical accident.
FATH T T FROTE
) R H R S (@) T &7 Y A
(M) 9eET WY 3 (F) wH 8 BE A 1
What is the main recason behind Tsunami ?
(a} Earthquake in the sca {b) Earthquake in the land area
(c) Earthquake on the carth (d} None of these.
f= mem @ I S0 SvrEl 60 YR H T
Answer the following question in 50 or 60 words : '
AT Y % 32T i T H

Describe the objectives of disaster management,




